Meli-melo_multiplication

1. Effectue.
a) Ja’be e =
4 27

b) ?wz-%xzv--gyz =

2. Quel est le facteur manguant ?

a)3ab e =12a’b
b)-2ane =6a’n’

3abc
—

c) =-12a’be

3. Effectue.

b) 502 +3) —3x’=
A6

d) (4x-8x + 16) o ) =

e)gx2 . 1—52xy . _4—3x3y2 (Bxy - 15—2x2y2)=
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4. Effectue.
a)(2a+3)(a+8)=

b) (2x2-X) (8 - X) =

)(y+3)(y-5)=

dy (=_m)_
:.\ 3 7 j

o (=,

n’)
Y Ay
L 2 ) 4
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Corrigé
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la)—a’b’e
9

b) E xs},szz
4

2a)da
b)-3an

c)-28a

3 A
2x7 3x7y 1Ix

+
3 4 5
b)2x* +15

3a)

&

Cj Ex-‘l-}l..
16

d)-3x° +6x° —12x

N
e)-8x 'y +?x ¥

4a)2a’ + 19a+24

b)17x* —2x° —8x

c)y’-25
pi 4y 9
9 7 49

§m’ 3n°  143mn
3 8 12

e)
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